o x B(DY Z' - ZH) [pb]

0 X B(VBF Z' - ZH) [pb]

CMS supplementary 138 fb? (13 TeV)

10 S P e T e

E Observed 3

1; S Expected +1std. deviation |

E - Expected * 2 std. deviation E

10_1* FE o X B(Z - ZH)HVT, b

1072 E

10°g 3

10™ E

B T T SN P

15 2 25 3 35 4 45 5 55 6

M, [TeV]

CMS supplementary 138 fbt (13 TeV)

B & R g E SR E S A

——— Observed 3

I Expected + 1 std. deviation ]

1= e Expected * 2 std. deviation 3

BEEEE o, x B(Z' - ZH)HVT ¢ =1 7

§ B o x B@Z - ZH)HVT ¢ =3 7

107 4

1072 E

107 =

15 2 25 3 35 4 45 5 55 6

M. [TeV]

10 CMS supplementary 138 fp* (13 TeV)

Observed

P Expected = 1 std. deviation
- Expected * 2 std. deviation
Oy X BW' — WH) HVT,

WH) [pb]

S
——
s

ox BDY W' -

10—5w\\wu\uu\uu\uu\uu\uu\uu'X 3

15 2 25 3 35 4 45 5 55 6

My, [TeV]

10 CMS supplementary 138 fbt (13 TeV)

AR R RN LR e e e s AR R

= ——— Observed 3

=" B Expected = 1 std. deviation ]

’f 15 e Expected + 2 std. deviation 3

; e Oy X B(\N'—oWH)HVTC,CH=1 B

' 1ot RS o x B~ WH)HVT ¢, =3 ]

@ 107 3

S E
S—"

o ]

= 107 E
o

107 E

T T T N

1075\\\\\\\\‘"\\\\\\
15 2 25 3 35 4 45 5 55 6
MW.[TeV]



